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1.     1. Read the passage and translate into Polish. 

Slips, trips and falls are the largest cause of accidents in all sectors 

from heavy manufacturing to office work. Other hazards include 

falling objects, thermal and chemical burns, fires and explosions, 

dangerous substances and stress. To prevent accidents occurring in 

the workplace, employers should establish a safety management 

system that incorporates risk assessment and monitoring procedures. 

 

2. Match the questions to the answers (Dopasuj pytanie do 

odpowiedzi): 

a) What is the main idea of the text? 

b) What should the employers do to prevent the accidents at work? 

1. To prevent accidents in the workplace. 

2. The employer must establish a safety management system that 

includes procedures for risk assessment and monitoring. 

 

2.  1. Read the passage and translate into Polish. 

Disabled workers should receive equal treatment at work. Health and 

safety issues should not be used as an excuse for not recruiting or not 

continuing to employ disabled people; for example, claiming that a 

worker in a wheelchair cannot escape from a building in an 

emergency or that a worker with impaired hearing cannot hear a fire 

alarm. 



                         2. Match the question to the answers (Dopasuj pytanie do 

odpowiedzi): 

                         a) What is the main idea of the text? 

                         b) How should employers treat the disabled people?     

1. Employers believe that people with disabilities employed in the work 

would be issues like escape in the event of an emergency. 

 

2. Disabled workers should receive equal treatment. 

 

3.  1. Read the passage and translate into Polish. 

Accident prevention measures for persons with disabilities may also 

help to reduce accidents to all workers, such as: 

-good lighting in the workplace 

-safe workplace access and exit 

-well-maintained pedestrian and traffic routes in the workplace 

-clear communication and good signing of hazards and risks in the 

workplace.  

 2. Match the questions to the answers (Dopasuj pytanie do 

odpowiedzi): 

 a) What is the main idea of the text? 

 b) What are the main accident prevention measures for persons with 

disabilities? 

 
1. Good lighting in the workplace 
secure access to jobs and output 
well-maintained trails and pedestrian traffic in the workplace 
-clear communication and a good sign of threats and risks in the workplace. 
2. Prevention helps to reduce accidents 

 



4. Przeczytaj fragment i przetłumaczyć na język angielski. 

 

  Jeśli ryzyko związane z użyciem substancji niebezpiecznych nie jest właściwie 

zarządzane, zdrowie pracowników może zostać poszkodowane w różny sposób, 

z różnymi efektami, począwszy od łagodnego podrażnienia oczu i skóry do 

astmy, problemów i reprodukcyjnych, wady wrodzonej i nowotworów. To może 

być za pośrednictwem pojedynczej ekspozycji , krótkim lub wieloma 

ekspozycjami , długotrwałe gromadzeniem substancji w organizmie. 

 

  5. Przeczytaj fragment i przetłumaczyć na język angielski. 
 
Zgodnie z prawem pracodawcy w UE muszą chronić swoich pracowników przed 
wypadkami w pracy przez substancje niebezpieczne w miejscu pracy. 
Pracodawcy muszą przeprowadzić ocenę ryzyka, i działać i uwzględnić ich. 
Ustawodawstwo reguluje też identyfikację i oznakowanie tysięcy różnych 
substancji, które są zarejestrowane na rynku UE. 
 
6. Przeczytaj fragment i przetłumaczyć na język angielski. 
  Codziennie miliony pracowników w Europie są narażone na hałas w miejscu 
pracy i wszystkich zagrożeń powiązanych z hałasem. Podczas gdy hałas jest 
najbardziej oczywistym problemem w takich branżach, jak produkcja i budowa, 
może też być problem w wielu innych środowiskach pracy, od centrów 
telefonicznych do szkół, barów…. 
 


